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Baper specific instructions:

There are a total of 65 questions carrving 100 marks. Questions are of multiple choice type or
numerical answer type. A multiple choice type question will have four choices for the answer with
onlv one comrect choice. For numerical answer tyvpe questions, the answer 15 a number and no choices
will be given. A number as the answer should be entered using the virtual keyboard on the monmitor.

Questions .1 — .25 camry Imark each. Questions Q.26 — (.55 carry 2marks each. The 2marks
questions nclude two pairs of common data questions and two pairs of linked answer questions. The
answer to the second question of the linked answer questions depends on the answer to the first
question of the pair. If the first question in the hinked pair s wrongly answered or 15 not attempted.,
then the answer to the second question in the pair will not be evaluated.

Questions Q.56 — .65 belong to General Aptitude (GA) section and carry a total of 15 marks.
Questions .56 — .60 carry Imark each. and questions .61 — Q.65 carry 2marks each.

Questions not attempted will result in zero mark, Wrong answers for multiple choice type questions
will result in NEGATIVE marks. For all 1 mark questions, % mark will be deducted for each wrong
answer. For all 2 marks questions, % mark will be deducted for each wrong answer. However. in the
case of the linked answer question pair, there will be negative marks only for wrong answer to the
first question and no negative marks for wrong answer to the second gquestion. There 1s no negative
marking for questions of numenical answer tyvpe.

Calculator is allowed. Chants, graph sheets or tables are NOT allowed in the examination hall.

Do the rough work in the Scnibble Pad provided.

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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Q. 1 — . 25carries one mark each.

0.1

03

Q.4

Qs

0.6

07

0.8

There is no value of x that can simultaneously satisfy both the given equations Therefore. find the

*least squares error” solution to the two equations, 1e., find the value of & that minimizes the sum of
squares of the errors in the two equations.

s
&7 3

Ao
8o 1

What is the mumimum number of multiplications ivolved in computing the matnx product POR?
Matrix: has 4 rows and 2 columns. matrix “has 2 rows and 4 columns, and matrixhas 4 rows and
| column.

A 1-h rainfall of 10 cm magnitude at a station has a return penod of 50 years. The probability that
a 1-h rainfall of magmitude 10 cm or more will occur in each oftwo successive years is:

[A) 0.04 (B) 02 (C)0.02 (D) L0004

Maximum possible value of Compacting Factor for fresh (green) concrete 1s:
(A) 05 (B} L0 (C) 1.5 (D) 2.0

As per 1S 800:2007. the cross-section in which the extreme fiber can reach the yield stress, but
cannot develop the plastic moment of resistance due to fatlure by local buckling 15 classificd as

(A} plastic sechion (B} compact section
(C) semi-compact seciion () slender section

The creep strains are
(A} coused due to dead loads only
{B) caused due to live loads only
(C) caused due to cychic loads only
(D} independent of loads

As per 1S 456:2000 for M20 grade concrete and plun barsin tension the design bond stress
A g 837 1.2 5" Further, 1S 456:2000 permits this design bond stress value to be increased by
60 % for HSD bars. The stress in theHSDveinforcing steel barsin tension, B, @< 36057
Find the required development length. 3o, for HSID barsin terms of the bar diameter, .

The “plane section remainzs plane” assumption in bending theory implies:

{A) strain profile is linear
(B) stress profile is linear
{C)y both strain and_ stress profiles are linear

%

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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Two steel columns P (length 4 nns yu:!ﬁ st:ngtﬁ hﬁg 3503 ") and O (length 24 and

yield strength 5, @370 500 ;') have the same cross-sections and end-conditions. The ratio of
buckling load of column P to that of column Q) 1s:

(A} OS5 (B} 1.0 (C) 2.0 (D) 4.0

The pin-jointed 2-I3 truss 15 loaded with a horzontal force of 15 ° at joint 8 and another 15 ¢
vertical foree at joint U, as shown.Find the force in member RS (in ) and report your answer
taking tension as positive and compression as negative.

<—tm i ——

154

4m

A symmetric l-section (with width of each flange &7+ 50 °7, thickness of each flange &0 10
27, depth of web = 100 mm, and thickness of web 80 10 °7) of steel is subjected to a shear
force of

100 " Find the magnitde of the shear stress{in /> * %% in the weh at its junction with the top
flange.

In its natural condition, a soil sample has a mass of 1.980 ' and a volume of0.001 *%. After
being completely dried in an oven, the mass of the sample 15 1.800 &' Specific gravity ais 2.7.

Unit weight of water is 10 © "/ *¥_ The degree of saturation of the soil is:

(A} D65 (B) 070 (C) 0.54 (¥ D61

The rabo Np’lh'd 15 known as shape factor. where Np 15 the number of flow lmes and Ny is the

number of equipotential drops. Flow net is always drewn with a constant b/a ratio. where b and a
are distances between two consecutive flow lines and equipotential lines, respectively. Assuming
that b/ ratio remains the same, the shape factor of aflow net will change if the

{A) upstream and downsiream heads are interchanged
{B) 01l in the flow space 1s changed
{C) dimensions of the flow space are changed

T e
Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.



P 1] 2 4 CIVIL ENGINEERING - CF
Q.14 Following siatementsare made on fnm]:lacﬁ souls, wﬁﬂm Eg stands forthe sols compacted on

Q.15

Q.16

018

Q.19

dry side of optimum moisture content and WS stands for thesoils compacted on wet side of
optimum moisture content. Identify the incorrect statement.

(A) Soul structure 15 flocculated onDS and dispersed on WS,

{B) Construction pore water pressure is low on DS and high on WS.
(C¥On drving, shnnkage is high on DS and low on WS.

{D}Om access to water, swelling 1= high on DS and low on WS,

Four columns of a building are to be located within a plot size of 10 m x 10 m. The expected load

on each column is 4000 kN. Allowable bearing capacity of the soil deposit is 100 kN/m™. The type
of foundation best suted 1=

(A} isolated footing (B} raft foundation
{C)y pile foundation (Mcombined footing

For suberitical flow in an open channel, the conirol section for gradually varied flow profiles is

(A} at the downstream end (B} at the upstream end
{C) at both upstream and downstream ends { D at any imtermediate sechon

Group-1 contains dimensionless parameters and Group- [ contains the ratios.

Giroup-1 Giroup -11

P. Mach Number 1. Ratio of inertial force and gravitational foree
(). Reynolds Number 2. Ratio of flusd velocity and velocity of sound
R. Weber Number 3. Ratio of inertial force and viscous force

5. Froude Number 4. Ratio of inertial force and surface tension force

The comrect match of dimensionless porameters in Group- 1 with ratios in Group-11 1s:

(A} P-3,Q-2, R4, 51 (B} P3, 04, R-2, 5|
(T} P-2,0-3, R4, 51 (D) P-1,0-3.R-2, 54

For a two dimensional flow field, the stream function ¢ 15 given asq.pl:iz{_r! -x° } The

magnitude of discharge occuming between the stream lines passing through poants (0.3) and (3 4)
is:

(A} & B) 3 iC) Ls (D) 2

An isohyet is a line joining points of

{A) equal temperature {B} equal humidity
(C) equal rainfall depth (D) equal evaporation

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.
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.20 Some of the water quality parameters are msﬁ E?ﬂ:hﬂtﬁfg a water sample with a birant.

Group-1 grves a hist of parameters and Group-1lgives the list of titrants.

Group-1 Group-11
P Alkalinity I. N/35.5 ApND,
). Hardness 2 N0 Na.S.0y
E. Chloride 3NS50 H,S0,
5. Dissolved oxygen 4. NS0 EDTA

The comect match of water quality parameters in Group-1 with titrants in Group-11 1s:

{A) P-1. -2, R-3_5-4 (B)P-3, 04, R-1,5-2
{(C)P-2, Q-1 R4, 53 (D) P-4, -3, R-2, 5-1

Q.21 A water reatment plant is designed to treat 1 m"'s of raw water. It has 14 sand filters. Surface area
of each filter is 50 m®. What s the loading rate {in L2

i with two fillers out of service for roubine

backwashing?

.22  Selectthe strength parameter of concrete usedindesign of plain jointed cement concrete pavements
from the following choices:

{A) Tensile strength

{B) Compressive strength
{C) Flexural strength

{2}y Shear strength

.23 It was observed that 150 vehicles crossed a particular location of a highway ina duration of 30
minutes. Assuming that vehicle arrival follows a negative exponential distnbution. find out the
number of time headways greater than 5 seconds in the above observation?

324  For two major roads with divided carmageway crossing at night angle.a full clover leafl interchange
with four indirect ramps is provided. Following statements are made on turming movements of
vehiclesto all directions from both roads. 1dentify the correct statement:

1A Merging from left 15 possible butdiverging to left 15 notpossible.
(B} Both merging from left and diverging to left arepossible.

{C) Merging from left 1s not possible butdiverging to left 1s possible.
(D) Neithermerging from lefi nordivergingto leftispossible.

.25  The lantude and departure of a line AB are +78 m and <45.1 m. respectively. The whole circle
bearing of the line AB 1s:

{A) 30° (B} 150° {C) 2100 (D) 3300

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.
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). 2o to (). 55 carry two marks each.

Q.26 The state of 2D-stress at a point 15 given by the followmg matnix of stresses:

Bgsn 100
m@%ﬂ@h m-hdn n-";gt3ﬂ

&
20 ?

What s the magnitude of mocximum shear stressin MPa?
{A) 50 (B} 75 (C) h0 (D) 110
.27 Find the magnitude of the error (correct to two decimal places) in the estimation of following

integral using Simpson’s ; Rule. Take the step length as 1.

&

“f-l- 10)dx

o !

Q.28 s
The solution for [cns* 30 sin’ 60 0 is:
n

1
A} O B} )1 (D)
(A} 15 (<)

e o |

.29  Find the value of & such that the function f{x) 1= a valid probability density function.

Flxi=i(x—102-x) Jorlsx<?

=0 atherwise

(.30 Laplace equation for water flow in soils is piven below.

" oH T
+" - =1

i i’ &’

=
.

Head H does not vary in v and = directions.
Boundary conditions are: at x =0, H = 5;and ﬂf‘r =-1.
5

What is the value of Hat x= .27

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.
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.31  All members in the rig:id-jclmt:g irnm: sﬁwn are pnsmaﬁ and have the same flexural stiffnessex.

Find the magnitude of the bending moment at Q@ {in * ") due to the given loading.

o im e 4m 2
= - -
5
Im
P ™ R~
/4) W 45 irim pA
Im
77

Q.32 A uniform beam iy 2 83D Ay’ LT in the form of a quarter-cirele of mdius | is fixed at
end © and free at the end !, where a load © 15 applied as shown. The verbical downwand
displacement, @ . at the loaded point * & given By @ 83D [ﬂfiﬂ':'"wt Find the valuc of
f{correct 1o 4-decimal "

]
places). _

- _______________________________________________________________________________________________|
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.33 A uniform beam “tiﬂ\ingwmmc ABCD. Determine the tension
(i 7 i segment AB of this cable (comrect to 1-decimal place).  Assume the cables ABCD. BE and

CF 1o be weightless.

g

D

Q.34 Beam '’ has intemal hinges in spans " and o as shown. The beammay be subjected to a
moving distributed vertical load of maximum imtensity 4 /" of any length anywhere on the
beam. The maximum absolute value of the shear force (in © ) that can occur due to this loading
Just to the nght of support ) shall be:

P 0Q R 5
& b & &
L5 e a S s 20 m 5 g3 M Jm
= I E o >

(A 30 (By40 {Cy4s (D) 55

.35 A rectangular concrete beam 250 *7 wide and 600 ** deep 1= pre-stressed by means of 16 high
tensile wires, cach of 7 mm diameter, located at200 ™ from the bottom face of the beamat a
given section.  IF the effective pre-stress in the wires 15700 3 °, what i1s the maximum sagging
bending moment (in ° '} {correct to |-decimal place) due to hive loadthat this sechonof the beam

can withstand without cauwsing tensile stress at the bottom face of the beam? Neglect the effect of
dead load of beam.

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.
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Q.36 The sml profile below a lake wi 0m and lake bottom at elevabion
@27 @110 m s shown in the Agure. where k 15 the permeability coefficient. A piezometer (stand
pipe) imstalled in the sand laver shows a reading of +10 m elevaton. Assume that thepicrometnic
headis uniform in the sand loyer. The quantity of water (in m'/s) flowing into the lake from the sand
layer through the silt laver per umt area of the lake bed 15:

water level al eleval

u Stand pipe

L. - f umher antesion prezsare)
=0 R R

Rock
(A)L.5x 107" (B)20x 10"
(Cyl1.ox 10" () 0.5 x 107

(.37 The soil profile above the rock surface for a 25"infinite slope is shown in the figure, where a5 15 the
undrained shear strength and v, 15 todal umit weight. The ship will occur at a depth of

(A) B.83m (B)2.7%m (C) 7.83m (D) 6.53m

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.
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Q.38 Two different soil types (Soil | and Soil 2) are used as ill behind a retaining wall as shown in

039

Q.40

041

Q42

043

the figure, where 1, 15 total unit weight, and ' and &' are effective cohesion and effective angle of
shearing resistance. The resultamt active carth forceper unit length (1n kN/m) acting on the wall is:

Retaining wall
A
] Soil I:
2m[] =15 kNm; ¢ =0; ¢ =300

I

m
i
2m

(A)31.7 (B} 352 (C) 51.8 (D) 57.0

Soil :
1, =20kN/m"; ¢'=0; ' = 40°

L .

A 2 km long pipe of 0.2 m diameter connects two reservoirs. The difference between water levels
in the reservoirs 15 8 m. The Darcy-Weisbachfriction factor of the pipe is 0.04. Accounting for
frictional, entry and exit losses, the velocity in the pipe (1n m/s) 1s:

(A} 063 (B35 {C) 2.52 {D) 1.25

The normal depth m a wide rectangular channel is increased by 10%. The percentage increase in
the discharge in the channel 1s:

(A} 2000 (B) 15.4 [C) 103 Dy 17.2

The transplantation of rce requires 10 days and total depth of water required duning transplantation
15 48 cm. During transplantation. there 15 an effective rainfall (useful for mmgation) of & em. The
duty of umigation water (in hectares/cumec ) 1s:

A} 612 (B} 216 (C)300 (D) 108

= il
fn-Bos C
Assumespecific gravity of sedimentparticles = 2,65, density of water (p) = 1000 kg/m”, dynamic
viscosity of water (p)=0.001 M.s'm’.and Stokes' lawisvalid The approximate minimum size of
particles that would be completely removed 1s:

A settling tank in & water treatment plant 15 designed for a surface overflow rate °I}IL

{A)0.0Imm (B) 0.0 mmdC) 0.03 mmy{[3) 0.04 mm

A student began experiment for determination of 5-day. 20°C BOD on Monday. Since the 5%day
fell on Saturday, the final DO readings were taken on next Monday. On calculation, BOD (1e. 7
day, 20°C) was found to be 150 mg/L. What would be the5-day, 20°0C BOD (in mg/L}? Assime
value of BOD rate constant (k) at standard temperature of 20°C as 0.23/day (basc e).

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.
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344 Elevation and temperature m fara pﬂ: are Eﬁuimﬁ &ﬁ&: b

Elevation. m Temperature, °C
4 21.25
444 15.70

Based on the above data, lepse rate can be referred as:

{A) Super-adiabanic (B} Neutral {C) Sub-adiabatic (D) Inversion

()45 The percent voids in mineral aggregate (VMA) and percent air voads (V,) in a compacted
eylindrical bituminous mix specimen are 15 and 4. Srespectively. The percent voids filled wath
bitumen { VFB) for this specimen 1s:

(A) 24 (B} 30 (C) 54 (D) 70

Q.46  Following bearings are observed while traversing with a compass.

Line Fore Beanng Back Beanng
AB 126745 JOE00"
BC 49015° 227030°
D 340730° 161745
DE I5R930° TR=30"
EA 212930" 31°45°

After applving the comection due to local attraction, the corrected fore beanng of line BC will be:

(A)48°15°  (B)SOO1S (C) 49045° (D} 48945’

347 A theodolite 15 set up at station A and a 3 m long staff is held vertically at station B. The depression
angle reading at 2.5 m marking on the staffis 6°10°. The bonzontal distance between A and B 15
2200 m. Height of instrument at station A 15 1.1 m and R_L. of A is 820 88 m.Apply the curvature
and refraction correction, and determine the R.L. of B {in m).

Common Data Questions
Common Data for Questions 48 and 49:

A propped cantilever made of a prismatic steel beam 15 subjected to a concentrated load P at mud span as

i |
;.

.48 If load © @50 80 . find the reaction (i * ) (correct to 1-decimal placejusing clastic analysis.

AN

1.5m 1.5m

Q.49  If the magmitude of load” 15 increased tll collapse and the plastic moment carrying capacity of steel
beam section 15 90 ° 7, determine reaction {in " }ecomrect to 1-decimal place) using plastic

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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Common Data for Questions 50 and !l: ﬂ b

For a portion of national highway where a descending gradient of 1 in 25 meets with an ascending gradien
of 1 in 20, a valley curve needs to be designed for a vehicle travelling at 90 kmphbased on the following
conditions.

{1} headlight sight distance equalto the stopping sight distance (SSD) of a level termain
consideninglength of valley curves= SSD.

(1L} comfort condition with allowablerate of change of centrifuzal acceleration = 0.5 m/sec”.

Assume total reaction time = 2.5 seconds; coefficient of longitudinal friction of the pavement= 0.35; height
of head hight of the vehicle =0.75 m; andbeam angle = 1°.

.50  What is the length of valley curve (in m) based on the head light sight distance condition?

(3.51  What is the length of valley curve {in mjbased on the comfort condition?

Linked Answer (uestions
Statement for Linked Answer Questions 52 and 53:

A multistory building with a basement 15 to be constructed. The top 4 m consists of loose silt, below which
dense sand layer is present up to a great depth. Ground water table 15 at the surface. The foundabion consisis
of the basement slab of 6 m width which will rest on the top of dense sand as shown in the figure. For

dense sand. saturated unit weight = 20kN/m’, and bearing capacity factors Ny = 40 and N, = 45. For loose

silt, saturated unit weight = 18kN/m’, My = 15 and N, = 20.Effective cohesion ¢ is zero for both soils. Unit
weight of water is 10 kN/m”. Neglect shape factor and depth factor.

Average clastic modulus E and Poisson's ratio i of dense sand is 60 x 10°kN/m" and 0.3 respectively.

Ground surface pvd
.t pred
Loose silt | Loose silt
Basement
4 m
| Foundation slab
| §
b—Em—3
Dense sand

.52 Using factor of safety = 3, the net safe bearing capacity (in kN/m) of the foundation is:
(Ajalo (B} 3210 {C) 983 (D) 693

(.53 The foundaton slab 15 subjected to vertical downward stresses equal to nct safe beanng capacity
derived in the above question. Using influcnce factor 1= 2.0, and neglecting embedment depth and

rigidity comections, the immediate settlement of the dense sand layer will be:
{A) 58 mm (B)111 mm {C) 126 mm (D) 179 mm

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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Statement for Linked Answer Qu!stinn: _ﬂ I.I:Iﬂ ;i ﬂ b

At a station, Storm 1 of 5 hour duration with intensity 2 emvh resulted in a8 runoff of 4 cm and Storm 1 of 8
hour duration resulied in a runoff of 8.4 cm. Assume that the §-index is the same for both the storms.

Q.54

0353

The ¢-index (1n cm'h) 1s:
(A)l.2 {BilL.O {Cil.6 o 1.4

The intensity of storm 1 {in em'h) i1s:
(A} 2.00 (B}I.TS [C)1.50 (D225

General Aptitude (GA) Questions

). 56 — ). 60 carry one mark each.

0.56

Q.57

Q.58

0.59

Q.60

A number 15 as much greater than 75 as it is smaller than 117. The number 1s:

(A} (B) 93 {C) &9 (D) 96
The professor ordered to the students to go out of the class.
| I m v
Which of the above underlined parts of the sentence is grammatically incorrect?
(A1 (B (C) I (D) IV

Which of the following options is the closest in meaning to the word given below:

Primeval

(A) Modern {B) Histonc

{Cy Pnmitive {D) Antique
Friendship, no matter how it is, has its limitations.
{ A} cordial

{B) intimate
(C) secret
(D} pleasant

Select the pair that best expresses a relationship similar to that expressed in the pair:
Medicine: Health

{A) Scrence: Experiment (B) Wealth: Peace
(Cy Education: Knowledge (D) Money: Huppiness

- _______________________________________________________________________________________________|
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). 61 to (). 65 carry two marks each.

Q.61

Q.63

Q.64

0.65

X and ¥ are two positive real numbers such that 2= 0 o 0 6and ~ [0 20 0 8. For which of the
following values of #.7, - the function L7, T &7 37 0 6. will give maximum value?

(A) (43, 1073)

(B) (873, 2003)

(C) (83, 1003)

(D} (473, 20/3}

If |47 ©¢: 7] @D 5 then the values of 2 |~ 8¢ | @4 ] is:

(A) 2,13 (B) 1/2, 3 iC) 32,9 (D) 23,9

Following table provides figures (in rupees) on annual expenditure of a firm for two years - 2010
and 2011.

Category o 2011
Raw material 5200 6240
Power & Toel TO00 3450
Salary & wages OO0 1 2600
Plant & machinery 20000 | 25000
Advertising 15000 | 19500
Research & Development 22000 | 26400

In 201 |, which of the following two categones have registered increase by same percentage?
{A) Raw matenal and Salary & wages
(B) Salarv & wages and Advertising

{C) Power & fuel and Advertising
(D) Raw matenal and Rescarch & Development

A firm 15 selling its product at Rs. 60 per unit. The total cost of production s Rs. 100 and firm 15
carming total profit of Rs. 500. Later, the total cost increased by 30%%. By what percentage the price
should be increased to mamiained the same profit level.

(A3 (B) 10 (C) 15 (D) 30

Abhishek is elder to Savar.
Savar is younger to Anshul.

Which of the given conclusions is logically valid and is inferred from the above
statements?

(A) Abhishek 1z elder to Anshul

(B) Anshul is elder to Abhishek

(C) Abhishek and Anshul are of the same age
(D} Mo conclusion follows

Disclaimer: We are pgFoVNQF TN BRHRNSAPER S not an official one.
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CE 38 A
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CE | 40 o
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CE | 44 A
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CE | 48 25
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CE 50 308 to 311
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CE 54 A
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CE 3
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CE 20 B
CE 21 143 to 145
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CE 23 Marks to All
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CE 28 A
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CE k| 25
CE 3z 0.785to 0.786
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CE 35 85510 B6.5
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Dwuration: Three Hours Maxinmm Marks: 100
Please read the following instructions carefully:
General Instructions;

I. Total durstion of examination is 180 minutes {3 hours).

1

The clock will be set at the server. The countdown timer 1n the top nght comer of screen will display
the remaining time available for you to complete the examination. When the timer reaches zero, the
examination will end by itself. ¥ ou will not be required to end or submit your examination.

3. The Question Palette displayed on the nght side of screen will show the status of cach question using
one of the following symbols:

b

You have not visited the question vet.
You have not answered the question.

You have answered the question.

You have NOT answered the question, but have marked the
question for review.

You have answered the question, but marked it for review.

-]

The Marked for Review status for a question simply indicates that vou would like to look at that
question again. ff @ guestion is answered and Marked for Review, your answer for thai question
will b considered in the evaliation

Naviggting to 3 Ouestion
4. To answer o question, do the following:

a. Chck on the question number in the Cuestion Palette to go to that question directly.

b. Sclect an answer for & multiple choice type question. Use the virtual numenic keypad to enter
4 number as answer for a numencal type question.

¢. Click on Save and Next to save vour answer for the current question and then go to the next
queshion.

d. Click on Mark for Review and Next to save vour answer for the cunrent question, mark it
for review, and then go to the next question.

¢, Cauntion: Note that vour answer for the corrent guestion will not be saved. il vou
navigate to another question directly by clicking on its question number,

5. You can view all the questions by clicking on the Question Paper button. Note that the options for
multiple choiee type questions will not be shown,

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.

This might be used for reference purpose.
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Answering g Question

6. Procedure for answenng a multiple choice type question:

S
b

B
Bt

To select your answer, click on the button of one of the options

To deselect your chosen answer, click on the button of the chosen option again or click on the
Clear Response button

To change vour chosen answer, click on the button of another option

To save your answer, you MUST click on the Save and Next button

To mark the question for review, chick on the Mark for Review and Next button. ff an
answer iv sefected for o guestion that is Marked for Review, that answer will be considered
in the evaluation.

7. Procedure for answenng a numerical answer type question:

M
b.

B
=

To enter a numbser as your answer, use the virtual numencal keypad

A fraction (eg..-0.3 or -3} can be entered as an answer with or without *07 before the decimal
point

To clear your answer, click on the Clear Response bution

To save your answer, vou MUST click on the Save and Next button

To mark the question for review, click on the Mark for Review and Next button. ff an
answer is entered for a guestion that is Marked for Review, that answer will be considered
in the evaluetion.

& To change vour answer to a question that has already been answered, first select that question for
answering and then follow the procedure for answering that type of question.

9. Note that ONLY Cuestions for which answers are saved or marked for review afier answening wall be
considered for evaluation.

- _______________________________________________________________________________________________|
Disclaimer: We are providing a piece of information. This is not an official one.

This might be used for reference purpose.
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